) =220 = [ o =2 s 0) <.

(1) f(x) DEREHAERD X,
(2) g(x) DBEFEHAERD X,
(3) h(x) DERE A KD X,
(i)

(1) f(x)=x" < log f(x)=xlogx DA %My LT

S'(x)
f ()

(2) g(x)={f(0)}" < logg(x)=xlog f(x) DA% LT,

g'x S'(x)
g(x) ()

:logx+x-lc> f'(x)= f(x)(logx+1)=x"(logx+1)
x

—tog f()+x L) o g1 = g(x){logf(x)+ A )}

S (x)
— (" flog(x™) + x(logx + 1) {= x* "1 (2logx +1)

(3) h(x)=x"® < logh(x) = f(x)logx DD %ML LT

)

=f'(x)logx+f(x)l<:>h'(x):h(x){f (x)logx+f( )}
h(x) X

= x(xx){xx (logx+1Dlogx+x™" }: x(xX”_l){x(logx +1)logx +1}



